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Fundamental of Integral Calculus - MATH200 — 1 Exam

Name: ID:
Instructor: Section:
Answer All Questions:
Question Degree
1 /7
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3 /7
4 /5
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Question 1: Evaluate the following indefinite integrals:
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Question 2: Evaluate the following :
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Question 3: Calculate the following definite integrals:

1. (4 marks). fom3 e*(1+ e*)V/? dx, [u=1+e*].
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Question 4: (5 marks)

Find the area of the region that is enclosed between the curves y = x? and
y=x+6.
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Question 1: Evaluate the following indefinite integrals:
1. (2 marks) [(vx+ x)dx.
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Question 2: Evaluate the following :
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Question 3: Calculate the following definite integrals by a u-substitution:

1. (4 marks) f08x\/1+xdx, [u=1+x].
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Question 4: (5 marks)

2= N+2

Find the area of the region enclosed by x = y? and y = x — 2,
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Question 1: Evaluate the following indefinite integrals:

1. (2 marks)

J’qu\x= _4£_5_

2. (2 marks)
2 dx = 2 I
3 x° 3

3. (2 marks)

[x*dx

t+C

2

[4cosxdx

Suaas»\co{x= HJC@S&O(X =

4. (2marks) [ x% dx
Y &\
Y 3 aLK = 3
) LR
}; <\
2
- 3
- 44 LC = }_
‘4/3 q

First Exam — Math200 5 Mar 2018

4 Sinxac

v?wl;

Page | 1



Question 2: Answer the following questions:
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Question 3:

1. (4 marks) Find the total area between the curve y = 1 — x2 and the
x — axis over the interval [0,2] (See Figure) ;

total area = || OZI f(x)| dx
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